
SAP ABAP table EADRSTRTGRID {Allocation of Grid to Street}

EADRSTRTGRID

CLIENT [CLNT (3)]

COUNTRY [CHAR (3)]

STRT_CODE [CHAR (12)]

HOUSENUM_H [NUMC (10)]

HSN_SUPP_H [CHAR (4)]

HOUSENUM_L [NUMC (10)]

HSN_SUPP_L [CHAR (4)]

HSN_IND [NUMC (1)]

SPEBENE [CHAR (2)]

GRID_ID [CHAR (10)]

ADRSTREET

CLIENT [CLNT (3)]

COUNTRY [CHAR (3)]

STRT_CODE [CHAR (12)]

 EADRSTRTGRID-STRT_CODE = ADRSTREET-STRT_CODE 
0..N

1

EGRIDVL

MANDT [CLNT (3)]

GRID_ID [CHAR (10)]

SPEBENE [CHAR (2)]

 EADRSTRTGRID-GRID_ID = EGRIDVL-GRID_ID 0..N

1 T000

MANDT [CLNT (3)]

 EADRSTRTGRID-CLIENT = T000-MANDT 
0..N1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 EADRSTRTGRID-COUNTRY = T005-LAND1 

0..N

1

TE369

MANDT [CLNT (3)]

SPEBENE [CHAR (2)]

 EADRSTRTGRID-SPEBENE = TE369-SPEBENE 

0..N

1


